OH:Seﬁ' Mass Meatevial - |Oo RO Sjsee\

10 R0 Stee) Densi\g }JOOM = 0. 29 \bm/ing

[;Q(BgiTngs\

N7 S8, me= 16307 1b, &= 1.3Gin.
Fo Cuny) = (16907 \bm)(\-je/mH)(So&?\raa/g)o‘
Fo (wm) = 490.03S Wm fi/s?
lbm- §t - pad®
INOTE‘- | bty = 3&.4 \bm'H/sa L g,
\bm'“/s&

— Fo (wn) = 1S.213 lbg

Fo Cuma ) = (16307 Wm ) Qr36/1a ) (151,079 radfs ) *
Fo (wn}) = Hi575 .. 5388 \};m'ﬂ/s}

—F (wna) = 135334 by

[;OAE(SQ\- Mass oL
N =598, mes L7 Bbm , = 1.39 m.

FoCwn) = CL70Wm ) (1239 /12 ) (S0 S7) radfs)?
Fo Cwni) = S06.S6R |ym-ft[s2

— Fo (wni ) = 1€.731 iy

Fo (U)n%> 2 (\-7\\\;m><\.3‘1/\,,1> (%131.07Cj raci/g >yl
Fo Cna) = HSR1. 03S U /52



EC)%_ESe} MC{SS 3
=loalin®, Me= R-8C lbm , €= 1.03in.

Fo (wni) = (a-261m) (103 /12 §F) (50.571 rad [s)¢
Fo (wm ) = GA7.80S \bm  fi[/s#

— Fe (wny )= 19497 og

Fo (wna ) = (2 2etm ) Croaf1aft) (151079 raa J5)*
Fo (wra) = S6O3. LAY Yym /s

———)Fo ((ﬁnﬁk)

A
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|7H. clo \bg

EO(;:,ESC’f Mass H

¥ = 31Sm? , me= 432w, €= .18 n.

Fo Cwony) = (a3 1bm ) (11318 £4 ) (S0.671 vad /5 )%
Fo (wony) = S33. 434 lbm - f/s®

—+Fo (tom) = 18019 lig
Fo Conn) = (232 ) (113 13 84) (151,079 raafs )
Fo (wna) = SAG7. 114 lbm fH /s
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